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QUESTION 1

Which two are true about offloading backups to a physical standby database in a Data Guard environment? 

A. The standby database must be registered in an RMAN catalog after the primary database has been registered 

B. The standby database cannot be registered in an RMAN catalog if the primary database has not been registered 

C. Backups of the standby control file taken while connected to the catalog where the database is registered, may be
used to restore the control file on the primary database. 

D. The standby database must be registered in an RMAN catalog before the primary database has been registered 

Correct Answer: BC 

 

QUESTION 2

Which two are true about the creation of a Data Guard Broker configuration? 

A. in a broker configuration, the primary database name must match the DB_UNIQUE_NAME value in the database
initialization parameter file. 

B. A primary database profile may be added to the configuration prior to creating the primary database. 

C. A standby database profile may be added to the configuration prior to creating that standby database. 

D. A newly created broker configuration requires at least one standby database profile to be specified at the time the
configuration is created. 

E. A newly created broker configuration is in the disabled state 

Correct Answer: DE 

 

QUESTION 3

Which three factors can influence the rate of redo apply on a physical standby database? 

A. the network latency between the primary and standby databases 

B. the number of archiver processes on the standby database 

C. the number and size of standby redo logs on the primary database 

D. the rate of redo generation on the primary database 

E. the number and size of standby redo logs on the standby database 

Correct Answer: ABE 

 

1Z0-066 PDF Dumps | 1Z0-066 VCE Dumps | 1Z0-066 Exam Questions                                2 / 4

https://www.pass2lead.com/1z0-066.html
https://www.pass2lead.com/1z0-066.html
https://www.pass2lead.com/1z0-066.html


https://www.pass2lead.com/1z0-066.html
2024 Latest pass2lead 1Z0-066 PDF and VCE dumps Download

QUESTION 4

Examine the Data Guard configuration: Identify two possible reasons for this error. 

A. The FastStartFailoverTarget property is not set on Sheep. 

B. The FastStartFailoverTarget property is not set on Dogs. 

C. The FastStartFailoverTarget property is not set on DogsFSI. 

D. The LogXptMode property is set to ASYNC on Dogs. 

E. The RedoRoutes property is not set on Dogs 

F. The RedoRoutes property is not set on DogsFSI 

Correct Answer: AD 

 

QUESTION 5

A query on the view DBA_LOGSTDBY_UNSUPPORTED on your primary database returns several rows. 

As a result of this, you decide that an upgrade may not use logical standby databases 
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Which three are true about upgrading Data Guard environments consisting of one physical standby database running on
a separate host from the primary? 

A. The upgrade requires downtime until the upgrade of the standby is completed. 

B. The broker must be disabled during the upgrade 

C. With manual upgrade, catupgrd.sql can be executed on the primary and standby databases simultaneously. 

D. The upgrade requires downtime until the upgrade of the primary is completed. 

E. The new release of the Oracle Software must be installed on both the primary and standby database hosts 

F. Redo Apply on the standby database must be stopped while the primary database is upgraded. 

G. Fast-Start Failover can be used to protect the primary database during the upgrade. 

Correct Answer: BDE 
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